

Local Public Agency: Village of Romeoville  
Date: 1/12/2026  
County: Will  
Time: 10:31 AM  
Section: #24-00079-00-PV  
Appropriation:  
Estimate: \$2,966,439.00

Attended By: Joel Drabicki

**24-R0569 - Village of Romeoville  
Lower Industrial Resurfacing - RBI**

Item No.	Item Description	Unit	QTY	Unit Price	Total	Unit Cost	Total	Austin Tyler Construction Inc.		P.T. Ferro Construction Co.				
								Name of Bidder:	Gallagher Asphalt Corp.	Builders Paving				
								Address of Bidder:	18100 S. Indiana Avenue	4413 Roosevelt Road	23343 S. Ridge Road	700 S. Rowell Ave		
									Suite 108					
								Approved Engineer's Estimate						
20100110	TREE REMOVAL (6 TO 15 UNITS DIAMETER)	UNIT	36	\$90.00	\$3,240.00	\$29.00	\$1,044.00	\$30.00	\$1,080.00	\$50.00	\$1,800.00	\$38.00	\$1,368.00	
20100210	TREE REMOVAL (OVER 15 UNITS DIAMETER)	UNIT	40	\$80.00	\$3,200.00	\$31.00	\$1,240.00	\$32.00	\$1,280.00	\$75.00	\$3,000.00	\$42.00	\$1,680.00	
20200100	EARTH EXCAVATION	CU YD	1,970	\$40.00	\$78,800.00	\$40.00	\$78,800.00	\$47.00	\$92,590.00	\$35.00	\$68,950.00	\$45.00	\$88,650.00	
20201200	REMOVAL AND DISPOSAL OF UNSUITABLE MATERIAL	CU YD	525	\$45.00	\$23,625.00	\$40.00	\$21,000.00	\$48.00	\$25,200.00	\$34.00	\$17,850.00	\$45.00	\$23,625.00	
20800150	TRENCH BACKFILL	CU YD	235	\$55.00	\$12,925.00	\$80.00	\$18,800.00	\$75.00	\$17,625.00	\$60.00	\$14,100.00	\$80.00	\$18,800.00	
21001000	GEOTECHNICAL FABRIC FOR GROUND STABILIZATION	SQ YD	525	\$2.50	\$1,312.50	\$6.00	\$3,150.00	\$1.50	\$787.50	\$3.00	\$1,575.00	\$3.00	\$1,575.00	
21101615	TOPSOIL FURNISH AND PLACE, 4"	SQ YD	2,100	\$5.00	\$10,500.00	\$8.75	\$18,375.00	\$5.20	\$10,920.00	\$3.00	\$6,300.00	\$7.00	\$14,700.00	
25100630	EROSION CONTROL BLANKET	SQ YD	2,100	\$1.50	\$3,150.00	\$2.25	\$4,725.00	\$4.50	\$9,450.00	\$8.00	\$16,800.00	\$1.30	\$2,730.00	
28000400	PERIMETER EROSION BARRIER	FOOT	420	\$5.00	\$2,100.00	\$4.75	\$1,995.00	\$3.50	\$1,470.00	\$5.00	\$2,100.00	\$8.00	\$3,360.00	
28000510	INLET FILTERS	EACH	20	\$165.00	\$3,300.00	\$200.00	\$4,000.00	\$200.00	\$4,000.00	\$0.01	\$0.20	\$0.01	\$0.20	
30300001	AGGREGATE SUBGRADE IMPROVEMENT	CU YD	525	\$45.00	\$23,625.00	\$40.00	\$21,000.00	\$55.00	\$28,875.00	\$40.00	\$21,000.00	\$45.00	\$23,625.00	
35101600	AGGREGATE BASE COURSE, TYPE B 4"	SQ YD	1,935	\$10.00	\$19,350.00	\$13.00	\$25,155.00	\$4.50	\$8,707.50	\$6.50	\$12,577.50	\$8.50	\$16,447.50	
35102200	AGGREGATE BASE COURSE, TYPE B 10"	SQ YD	10,110	\$22.00	\$222,420.00	\$13.50	\$136,485.00	\$12.00	\$121,320.00	\$15.00	\$151,650.00	\$15.00	\$151,650.00	
35800100	PREPARATION OF BASE	SQ YD	15,265	\$1.00	\$15,265.00	\$0.01	\$152.65	\$2.00	\$30,530.00	\$1.00	\$15,265.00	\$0.01	\$152.65	
35800200	AGGREGATE BASE REPAIR	TON	60	\$25.00	\$1,500.00	\$37.00	\$2,220.00	\$18.00	\$1,080.00	\$20.00	\$1,200.00	\$0.01	\$0.60	
40201000	AGGREGATE FOR TEMPORARY ACCESS	TON	750	\$15.00	\$11,250.00	\$17.50	\$13,125.00	\$25.00	\$18,750.00	\$0.01	\$7.50	\$0.01	\$7.50	
40300200	BITUMINOUS MATERIALS (PRIME COAT)	TON	32,710	\$0.20	\$6,542.00	\$0.01	\$327.10	\$0.01	\$327.10	\$0.01	\$327.10	\$0.01	\$327.10	
40600290	BITUMINOUS MATERIALS (TACK COAT)	POUND	19,590	\$0.20	\$3,918.00	\$1.10	\$21,549.00	\$0.01	\$195.90	\$0.01	\$195.90	\$0.01	\$195.90	
40600370	LONGITUDINAL JOINT SEALANT	FOOT	13,280	\$4.00	\$53,120.00	\$3.90	\$51,792.00	\$3.60	\$47,808.00	\$3.75	\$49,800.00	\$4.00	\$53,120.00	
40600982	HOT-MIX ASPHALT SURFACE REMOVAL BUTT JOINT	SQ YD	60	\$15.00	\$900.00	\$38.00	\$2,280.00	\$25.00	\$1,500.00	\$0.01	\$0.60	\$0.01	\$0.60	
40603080	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50	TON	4,925	\$85.00	\$418,625.00	\$85.00	\$418,625.00	BLR 12315 (Rev. 07/16/13)	\$70.00	\$344,750.00	\$75.00	\$369,375.00	\$79.00	\$389,075.00

Local Public Agency: Village of Romeoville  
Date: 1/12/2026  
County: Will  
Time: 10:31 AM  
Section: #24-00079-00-PV  
Appropriation:  
Estimate: \$2,966,439.00

Attended By: Joel Drabicki

**24-R0569 - Village of Romeoville  
Lower Industrial Resurfacing - RBI**

Item No.	Item Description	Unit	QTY	Unit Price	Total	Unit Cost	Total						
40603200	POLYMERIZED HOT-MIX ASPHALT BINDER COURSE, IL-4.75, N50	TON	580	\$110.00	\$63,800.00	\$120.00	\$69,600.00	\$98.00	\$56,840.00	\$105.00	\$60,900.00	\$105.00	\$60,900.00
40604060	HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "D", N50	TON	3,875	\$90.00	\$348,750.00	\$92.00	\$356,500.00	\$73.00	\$282,875.00	\$80.00	\$310,000.00	\$85.00	\$329,375.00
42300300	PORLTAND CEMENT CONCRETE DRIVEWAY PAVEMENT, 7 INCH	SQ YD	770	\$90.00	\$69,300.00	\$87.00	\$66,990.00	\$102.00	\$78,540.00	\$98.00	\$75,460.00	\$125.00	\$96,250.00
44000100	PAVEMENT REMOVAL	SQ YD	10,110	\$25.00	\$252,750.00	\$10.00	\$101,100.00	\$13.00	\$131,430.00	\$12.00	\$121,320.00	\$13.00	\$131,430.00
44000157	HOT-MIX ASPHALT SURFACE REMOVAL, 2"	SQ YD	13,420	\$2.50	\$33,550.00	\$2.80	\$37,576.00	\$2.20	\$29,524.00	\$2.00	\$26,840.00	\$3.60	\$48,312.00
44000163	HOT-MIX ASPHALT SURFACE REMOVAL, 3 1/2"	SQ YD	11,620	\$4.00	\$46,480.00	\$4.30	\$49,966.00	\$4.20	\$48,804.00	\$3.50	\$40,670.00	\$4.60	\$53,452.00
44000172	HOT-MIX ASPHALT SURFACE REMOVAL, 5 3/4"	SQ YD	4,700	\$6.50	\$30,550.00	\$6.70	\$31,490.00	\$6.10	\$28,670.00	\$5.50	\$25,850.00	\$6.00	\$28,200.00
44000200	DRIVEWAY PAVEMENT REMOVAL	SQ YD	1,460	\$20.00	\$29,200.00	\$21.00	\$30,660.00	\$16.50	\$24,090.00	\$24.00	\$35,040.00	\$30.00	\$43,800.00
44000500	COMBINATION CURB AND GUTTER REMOVAL	FOOT	7,325	\$12.00	\$87,900.00	\$13.00	\$95,225.00	\$10.50	\$76,912.50	\$10.00	\$73,250.00	\$14.00	\$102,550.00
54213660	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 15"	EACH	1	\$1,200.00	\$1,200.00	\$1,160.00	\$1,160.00	\$1,200.00	\$1,700.00	\$1,700.00	\$1,700.00	\$1,700.00	\$1,700.00
54214725	PRECAST REINFORCED CONCRETE FLARED END SECTIONS - ELLIPTICAL, EQUIVALENT ROUND-SIZE 30"	EACH	1	\$2,000.00	\$2,000.00	\$2,100.00	\$2,100.00	\$2,200.00	\$3,200.00	\$3,200.00	\$2,800.00	\$2,800.00	\$2,800.00
550A0050	STORM SEWERS, CLASS A, TYPE 1 12"	FOOT	149	\$100.00	\$14,900.00	\$60.00	\$8,940.00	\$61.00	\$9,089.00	\$70.00	\$10,430.00	\$85.00	\$12,665.00
550A0070	STORM SEWERS, CLASS A, TYPE 1 15"	FOOT	34	\$115.00	\$3,910.00	\$64.00	\$2,176.00	\$64.00	\$2,176.00	\$84.00	\$2,856.00	\$85.00	\$2,890.00
550A0120	STORM SEWERS, CLASS A, TYPE 1 24"	FOOT	438	\$125.00	\$54,750.00	\$82.00	\$35,916.00	\$82.00	\$35,916.00	\$111.00	\$48,618.00	\$95.00	\$41,610.00
550A4300	STORM SEWERS, CLASS A, TYPE 1 EQUIVALENT ROUND-SIZE 30"	FOOT	120	\$200.00	\$24,000.00	\$154.00	\$18,480.00	\$145.00	\$17,400.00	\$183.00	\$21,960.00	\$185.00	\$22,200.00
55100400	STORM SEWER REMOVAL 10"	FOOT	75	\$20.00	\$1,500.00	\$8.70	\$652.50	\$8.10	\$607.50	\$37.00	\$2,775.00	\$30.00	\$2,250.00
55100500	STORM SEWER REMOVAL 12"	FOOT	985	\$22.00	\$21,670.00	\$19.50	\$19,207.50	\$18.50	\$18,222.50	\$37.00	\$36,445.00	\$30.00	\$29,550.00

**Tabulation of Bids**  
**24-R0569**

Local Public Agency: Village of Romeoville  
Date: 1/12/2026  
County: Will  
Time: 10:31 AM  
Section: #24-00079-00-PV  
Appropriation:  
Estimate: \$2,966,439.00

Attended By: Joel Drabicki

**24-R0569 - Village of Romeoville  
Lower Industrial Resurfacing - RBI**

				Name of Bidder:		Gallagher Asphalt Corp.		Builders Paving		Austin Tyler Construction Inc.		P.T. Ferro Construction Co.	
				Address of Bidder:		18100 S. Indiana Avenue		4413 Roosevelt Road		23343 S. Ridge Road		700 S. Rowell Ave	
						Suite 108							
						Thornton, IL 60476		Hillside, IL 60162		Elwood, IL 60421		Joliet, IL 60434	
Item No.	Item Description	Unit	QTY	Unit Price	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
55100700	STORM SEWER REMOVAL 15"	FOOT	170	\$25.00	\$4,250.00	\$23.50	\$3,995.00	\$22.00	\$3,740.00	\$37.00	\$6,290.00	\$30.00	\$5,100.00
60108100	PIPE UNDERDRAINS 4" (SPECIAL)	FOOT	460	\$40.00	\$18,400.00	\$31.00	\$14,260.00	\$29.00	\$13,340.00	\$39.00	\$17,940.00	\$45.00	\$20,700.00
60200305	CATCH BASINS, TYPE A, 4'-DIAMETER, TYPE 3 FRAME AND GRATE	EACH	2	\$4,000.00	\$8,000.00	\$3,500.00	\$7,000.00	\$3,300.00	\$6,600.00	\$3,500.00	\$7,000.00	\$3,750.00	\$7,500.00
60201330	CATCH BASINS, TYPE A, 4'-DIAMETER, TYPE 23 FRAME AND GRATE	EACH	2	\$4,000.00	\$8,000.00	\$3,300.00	\$6,600.00	\$3,100.00	\$6,200.00	\$3,500.00	\$7,000.00	\$3,600.00	\$7,200.00
60218400	MANHOLES, TYPE A, 4'-DIAMETER, TYPE 1 FRAME, CLOSED LID	EACH	1	\$4,000.00	\$4,000.00	\$3,600.00	\$3,600.00	\$3,400.00	\$3,400.00	\$3,800.00	\$3,800.00	\$4,200.00	\$4,200.00
60221100	MANHOLES, TYPE A, 5'-DIAMETER, TYPE 1 FRAME, CLOSED LID	EACH	6	\$6,000.00	\$36,000.00	\$4,250.00	\$25,500.00	\$4,000.00	\$24,000.00	\$4,500.00	\$27,000.00	\$5,400.00	\$32,400.00
60223800	MANHOLES, TYPE A, 6'-DIAMETER, TYPE 1 FRAME, CLOSED LID	EACH	1	\$10,000.00	\$10,000.00	\$6,600.00	\$6,600.00	\$6,200.00	\$6,200.00	\$6,700.00	\$6,700.00	\$7,800.00	\$7,800.00
60235700	INLETS, TYPE A, TYPE 3 FRAME AND GRATE	EACH	1	\$1,500.00	\$1,500.00	\$1,900.00	\$1,900.00	\$1,800.00	\$1,800.00	\$2,000.00	\$2,000.00	\$2,100.00	\$2,100.00
60237460	INLETS, TYPE A, TYPE 23 FRAME AND GRATE	EACH	9	\$1,500.00	\$13,500.00	\$1,700.00	\$15,300.00	\$1,650.00	\$14,850.00	\$2,000.00	\$18,000.00	\$2,100.00	\$18,900.00
60266600	VALVE BOXES TO BE ADJUSTED	EACH	6	\$300.00	\$1,800.00	\$250.00	\$1,500.00	\$400.00	\$2,400.00	\$550.00	\$3,300.00	\$450.00	\$2,700.00
60404940	FRAMES AND GRATES, TYPE 23	EACH	2	\$450.00	\$900.00	\$485.00	\$970.00	\$470.00	\$940.00	\$400.00	\$800.00	\$500.00	\$1,000.00
60406000	FRAMES AND LIDS, TYPE 1, OPEN LID	EACH	2	\$450.00	\$900.00	\$450.00	\$900.00	\$450.00	\$900.00	\$400.00	\$800.00	\$500.00	\$1,000.00
60500040	REMOVING MANHOLES	EACH	6	\$800.00	\$4,800.00	\$750.00	\$4,500.00	\$250.00	\$1,500.00	\$800.00	\$4,800.00	\$500.00	\$3,000.00
60500050	REMOVING CATCH BASINS	EACH	4	\$800.00	\$3,200.00	\$900.00	\$3,600.00	\$900.00	\$3,600.00	\$800.00	\$3,200.00	\$500.00	\$2,000.00
60500060	REMOVING INLETS	EACH	2	\$450.00	\$900.00	\$255.00	\$510.00	\$250.00	\$500.00	\$600.00	\$1,200.00	\$500.00	\$1,000.00
60603800	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12	FOOT	1,235	\$35.00	\$43,225.00	\$40.00	\$49,400.00	\$40.00	\$49,400.00	\$47.00	\$58,045.00	\$40.00	\$49,400.00
60604400	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.18	FOOT	5,705	\$40.00	\$228,200.00	\$26.00	\$148,330.00	\$47.00	\$268,135.00	\$35.00	\$199,675.00	\$40.00	\$228,200.00
60605000	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24	FOOT	385	\$45.00	\$17,325.00	\$50.00	\$19,250.00	\$54.00	\$20,790.00	\$65.00	\$25,025.00	\$58.00	\$22,330.00
66900200	NON-SPECIAL WASTE DISPOSAL	CU YD	1,970	\$80.00	\$157,600.00	\$50.00	\$98,500.00	\$60.00	\$118,200.00	\$0.01	\$19,70	\$75.00	\$147,750.00

**Tabulation of Bids**
**24-R0569**

 Local Public Agency: Village of Romeoville  
 Date: 1/12/2026  
 County: Will  
 Time: 10:31 AM  
 Section: #24-00079-00-PV  
 Appropriation:  
 Estimate: \$2,966,439.00

Attended By: Joel Drabicki

 24-R0569 - Village of Romeoville  
 Lower Industrial Resurfacing - RBI

Item No.	Item Description	Unit	QTY	Unit Price	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
78000100	THERMOPLASTIC PAVEMENT MARKING LETTERS AND SYMBOLS	SQ FT	350	\$10.00	\$3,500.00	\$6.20	\$2,170.00	\$7.50	\$2,625.00	\$6.25	\$2,187.50	\$6.25	\$2,187.50
78000200	THERMOPLASTIC PAVEMENT MARKING LINE 4"	FOOT	6,860	\$0.90	\$6,174.00	\$1.10	\$7,546.00	\$0.83	\$5,693.80	\$0.90	\$6,174.00	\$0.90	\$6,174.00
78000400	THERMOPLASTIC PAVEMENT MARKING LINE 6"	FOOT	565	\$1.50	\$847.50	\$1.40	\$791.00	\$1.24	\$700.60	\$1.48	\$836.20	\$1.48	\$836.20
78000600	THERMOPLASTIC PAVEMENT MARKING LINE 12"	FOOT	155	\$4.00	\$620.00	\$3.00	\$465.00	\$3.75	\$581.25	\$2.98	\$461.90	\$2.98	\$461.90
78000650	THERMOPLASTIC PAVEMENT MARKING LINE 24"	FOOT	250	\$7.00	\$1,750.00	\$5.00	\$1,250.00	\$7.50	\$1,875.00	\$6.25	\$1,562.50	\$6.25	\$1,562.50
78300200	RAISED REFLECTIVE PAVEMENT MARKER REMOVAL	EACH	24	\$20.00	\$480.00	\$0.01	\$0.24	\$25.00	\$600.00	\$40.00	\$960.00	\$0.01	\$0.24
R5001013	SEEDING, SPECIAL	SQ YD	2,100	\$8.00	\$16,800.00	\$3.65	\$7,665.00	\$1.85	\$3,885.00	\$1.00	\$2,100.00	\$0.90	\$1,890.00
R6001009	CLASS D PATCHES, 5 INCH	SQ YD	1,540	\$50.00	\$77,000.00	\$35.00	\$53,900.00	\$35.00	\$53,900.00	\$63.00	\$97,020.00	\$45.00	\$69,300.00
R6001038	CLASS D PATCHES, 12 INCH	SQ YD	150	\$170.00	\$25,500.00	\$120.00	\$18,000.00	\$90.00	\$13,500.00	\$150.00	\$22,500.00	\$95.00	\$14,250.00
X0100029	EXPLORATORY EXCAVATION	FOOT	25	\$90.00	\$2,250.00	\$57.00	\$1,425.00	\$53.00	\$1,325.00	\$50.00	\$1,250.00	\$100.00	\$2,500.00
X0322917	PROPOSED STORM SEWER CONNECTION TO EXISTING MANHOLE	EACH	2	\$2,000.00	\$4,000.00	\$280.00	\$560.00	\$270.00	\$540.00	\$1,200.00	\$2,400.00	\$1,000.00	\$2,000.00
X0322918	PROPOSED MANHOLE/CATCH BASIN CONNECTION OVER EXISTING STORM SEWER	EACH	4	\$2,500.00	\$10,000.00	\$1,500.00	\$6,000.00	\$1,500.00	\$6,000.00	\$2,500.00	\$10,000.00	\$1,500.00	\$6,000.00
X6026050	SANITARY MANHOLES TO BE ADJUSTED	EACH	7	\$900.00	\$6,300.00	\$650.00	\$4,550.00	\$2,100.00	\$14,700.00	\$1,700.00	\$11,900.00	\$1,300.00	\$9,100.00
X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	L SUM	1	\$75,000.00	\$75,000.00	\$30,000.00	\$30,000.00	\$33,000.00	\$33,000.00	\$200,000.00	\$200,000.00	\$18,000.00	\$18,000.00
Z0004522	HOT-MIX ASPHALT DRIVEWAY PAVEMENT, 6"	SQ YD	690	\$70.00	\$48,300.00	\$70.00	\$48,300.00	\$64.00	\$44,160.00	\$70.00	\$48,300.00	\$50.00	\$34,500.00
Z0017400	DRAINAGE & UTILITY STRUCTURES TO BE ADJUSTED	EACH	93	\$550.00	\$51,150.00	\$400.00	\$37,200.00	\$810.00	\$75,330.00	\$425.00	\$39,525.00	\$300.00	\$27,900.00
Z0017700	DRAINAGE & UTILITY STRUCTURES TO BE RECONSTRUCTED	EACH	3	\$1,250.00	\$3,750.00	\$1,100.00	\$3,300.00	\$1,000.00	\$3,000.00	\$850.00	\$2,550.00	\$1,500.00	\$4,500.00

**Tabulation of Bids**  
**24-R0569**

Local Public Agency: Village of Romeoville  
 Date: 1/12/2026  
 County: Will  
 Time: 10:31 AM  
 Section: #24-00079-00-PV  
 Appropriation: \_\_\_\_\_  
 Estimate: \$2,966,439.00

Attended By: Joel Drabicki

**24-R0569 - Village of Romeoville  
Lower Industrial Resurfacing - RBI**

<b>24-R0569 - Village of Romeoville Lower Industrial Resurfacing - RBI</b>				Name of Bidder:		Gallagher Asphalt Corp.		Builders Paving		Austin Tyler Construction Inc.		P.T. Ferro Construction Co.	
				Address of Bidder:		18100 S. Indiana Avenue		4413 Roosevelt Road		23343 S. Ridge Road		700 S. Rowell Ave	
						Suite 108		Thornton, IL 60476		Hillside, IL 60162		Elwood, IL 60421	
				Approved Engineer's Estimate									
Item No.	Item Description	Unit	QTY	Unit Price	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Z0056608	STORM SEWER (WATER MAIN REQUIREMENTS) 12 INCH	FOOT	285	\$80.00	\$22,800.00	\$70.00	\$19,950.00	\$68.00	\$19,380.00	\$88.00	\$25,080.00	\$85.00	\$24,225.00
Z0056610	STORM SEWER (WATER MAIN REQUIREMENTS) 15 INCH	FOOT	115	\$95.00	\$10,925.00	\$79.00	\$9,085.00	\$78.00	\$8,970.00	\$107.00	\$12,305.00	\$70.00	\$8,050.00
Z0056612	STORM SEWER (WATER MAIN REQUIREMENTS) 18 INCH	FOOT	195	\$105.00	\$20,475.00	\$100.00	\$19,500.00	\$98.00	\$19,110.00	\$110.00	\$21,450.00	\$76.00	\$14,820.00
Z0056616	STORM SEWER (WATER MAIN REQUIREMENTS) 24 INCH	FOOT	88	\$130.00	\$11,440.00	\$135.00	\$11,880.00	\$132.00	\$11,616.00	\$154.00	\$13,552.00	\$100.00	\$8,800.00
				<b>TOTAL:</b>	<b>\$2,966,439.00</b>		<b>\$2,469,330.99</b>		<b>\$2,479,729.15</b>		<b>\$2,565,896.60</b>		<b>\$2,622,361.39</b>

Local Public Agency: Village of Romeoville  
 Date: 1/12/2026  
 County: Will  
 Time: 10:31 AM  
 Section: #24-00079-00-PV  
 Appropriation: \_\_\_\_\_  
 Estimate: \$2,966,439.00

Attended By: Joel Drabicki

24-R0569 - Village of Romeoville Lower Industrial Resurfacing - RBI				Name of Bidder:	D. Construction, Inc.		K-Five Construction Corp.		Schroeder Asphalt Services, Inc.		A Lamp Concrete Construction Inc.		
				Address of Bidder:	1488 S. Broadway		999 Oakmont Plaza Drive		PO Box 831		1900 Wright Boulevard		
					Coal City, IL 60416		Westmont, IL 60559		Huntley, IL 60142		Schaumburg, IL 60193		
Item No.	Item Description	Unit	QTY	Unit Price	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
20100110	TREE REMOVAL (6 TO 15 UNITS DIAMETER)	UNIT	36	\$90.00	\$3,240.00	\$100.00	\$3,600.00	\$29.00	\$1,044.00	\$44.00	\$1,584.00	\$39.00	\$1,404.00
20100210	TREE REMOVAL (OVER 15 UNITS DIAMETER)	UNIT	40	\$80.00	\$3,200.00	\$100.00	\$4,000.00	\$31.00	\$1,240.00	\$61.50	\$2,460.00	\$56.00	\$2,240.00
20200100	EARTH EXCAVATION	CU YD	1,970	\$40.00	\$78,800.00	\$30.00	\$59,100.00	\$80.41	\$158,407.70	\$53.50	\$105,395.00	\$52.00	\$102,440.00
20201200	REMOVAL AND DISPOSAL OF UNSUITABLE MATERIAL	CU YD	525	\$45.00	\$23,625.00	\$35.00	\$18,375.00	\$65.00	\$34,125.00	\$60.00	\$31,500.00	\$25.00	\$13,125.00
20800150	TRENCH BACKFILL	CU YD	235	\$55.00	\$12,925.00	\$50.00	\$11,750.00	\$73.85	\$17,354.75	\$11.00	\$2,585.00	\$10.00	\$2,350.00
21001000	GEOTECHNICAL FABRIC FOR GROUND STABILIZATION	SQ YD	525	\$2.50	\$1,312.50	\$10.00	\$5,250.00	\$1.00	\$525.00	\$2.50	\$1,312.50	\$2.25	\$1,181.25
21101615	TOPSOIL FURNISH AND PLACE, 4"	SQ YD	2,100	\$5.00	\$10,500.00	\$6.00	\$12,600.00	\$3.00	\$6,300.00	\$8.50	\$17,850.00	\$7.10	\$14,910.00
25100630	EROSION CONTROL BLANKET	SQ YD	2,100	\$1.50	\$3,150.00	\$4.00	\$8,400.00	\$8.00	\$16,800.00	\$2.20	\$4,620.00	\$4.30	\$9,030.00
28000400	PERIMETER EROSION BARRIER	FOOT	420	\$5.00	\$2,100.00	\$6.00	\$2,520.00	\$5.00	\$2,100.00	\$4.40	\$1,848.00	\$5.00	\$2,100.00
28000510	INLET FILTERS	EACH	20	\$165.00	\$3,300.00	\$300.00	\$6,000.00	\$250.00	\$5,000.00	\$150.00	\$3,000.00	\$15.00	\$300.00
30300001	AGGREGATE SUBGRADE IMPROVEMENT	CU YD	525	\$45.00	\$23,625.00	\$60.00	\$31,500.00	\$65.00	\$34,125.00	\$70.00	\$36,750.00	\$25.00	\$13,125.00
35101600	AGGREGATE BASE COURSE, TYPE B 4"	SQ YD	1,935	\$10.00	\$19,350.00	\$9.00	\$17,415.00	\$10.00	\$19,350.00	\$5.00	\$9,675.00	\$8.25	\$15,963.75
35102200	AGGREGATE BASE COURSE, TYPE B 10"	SQ YD	10,110	\$22.00	\$222,420.00	\$17.00	\$171,870.00	\$14.40	\$145,584.00	\$16.00	\$161,760.00	\$18.00	\$181,980.00
35800100	PREPARATION OF BASE	SQ YD	15,265	\$1.00	\$15,265.00	\$3.00	\$45,795.00	\$0.25	\$3,816.25	\$1.00	\$15,265.00	\$0.50	\$7,632.50
35800200	AGGREGATE BASE REPAIR	TON	60	\$25.00	\$1,500.00	\$50.00	\$3,000.00	\$13.25	\$795.00	\$30.00	\$1,800.00	\$25.00	\$1,500.00
40201000	AGGREGATE FOR TEMPORARY ACCESS	TON	750	\$15.00	\$11,250.00	\$25.00	\$18,750.00	\$10.00	\$7,500.00	\$16.50	\$12,375.00	\$17.00	\$12,750.00
40300200	BITUMINOUS MATERIALS (PRIME COAT)	TON	32,710	\$0.20	\$6,542.00	\$0.01	\$327.10	\$0.01	\$327.10	\$0.01	\$327.10	\$0.01	\$327.10
40600290	BITUMINOUS MATERIALS (TACK COAT)	POUND	19,590	\$0.20	\$3,918.00	\$0.01	\$195.90	\$0.01	\$195.90	\$0.01	\$195.90	\$0.01	\$195.90
40600370	LONGITUDINAL JOINT SEALANT	FOOT	13,280	\$4.00	\$53,120.00	\$4.70	\$62,416.00	\$3.50	\$46,480.00	\$3.70	\$49,136.00	\$3.10	\$41,168.00
40600982	HOT-MIX ASPHALT SURFACE REMOVAL BUTT JOINT	SQ YD	60	\$15.00	\$900.00	\$0.01	\$0.60	\$8.00	\$480.00	\$10.00	\$600.00	\$19.00	\$1,140.00
40603080	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50	TON	4,925	\$85.00	\$418,625.00	\$77.00	\$379,225.00	\$84.00	\$413,700.00	\$80.00	\$394,000.00	\$87.00	\$428,475.00

Local Public Agency: Village of Romeoville  
 Date: 1/12/2026  
 County: Will  
 Time: 10:31 AM  
 Section: #24-00079-00-PV  
 Appropriation: \_\_\_\_\_  
 Estimate: \$2,966,439.00

Attended By: Joel Drabicki

**24-R0569 - Village of Romeoville  
 Lower Industrial Resurfacing - RBI**

				Name of Bidder		D. Construction, Inc.		K-Five Construction Corp.		Schroeder Asphalt Services, Inc.		A Lamp Concrete Construction Inc.	
				Address of Bidder		1488 S. Broadway		999 Oakmont Plaza Drive		PO Box 831		1900 Wright Boulevard	
						Coal City, IL 60416		Westmont, IL 60559		Huntley, IL 60142		Schaumburg, IL 60193	
				Approved Engineer's Estimate									
Item No.	Item Description	Unit	QTY	Unit Price	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
40603200	POLYMERIZED HOT-MIX ASPHALT BINDER COURSE, IL-4.75, N50	TON	580	\$110.00	\$63,800.00	\$111.00	\$64,380.00	\$130.00	\$75,400.00	\$130.00	\$75,400.00	\$106.00	\$61,480.00
40604060	HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "D", N50	TON	3,875	\$90.00	\$348,750.00	\$82.00	\$317,750.00	\$87.00	\$337,125.00	\$88.50	\$342,937.50	\$89.00	\$344,875.00
42300300	PORLTAND CEMENT CONCRETE DRIVEWAY PAVEMENT, 7 INCH	SQ YD	770	\$90.00	\$69,300.00	\$90.00	\$69,300.00	\$99.00	\$76,230.00	\$110.00	\$84,700.00	\$92.50	\$71,225.00
44000100	PAVEMENT REMOVAL	SQ YD	10,110	\$25.00	\$252,750.00	\$8.00	\$80,880.00	\$14.00	\$141,540.00	\$12.85	\$129,913.50	\$12.55	\$126,880.50
44000157	HOT-MIX ASPHALT SURFACE REMOVAL, 2"	SQ YD	13,420	\$2.50	\$33,550.00	\$2.23	\$29,926.60	\$6.25	\$83,875.00	\$2.10	\$28,182.00	\$2.45	\$32,879.00
44000163	HOT-MIX ASPHALT SURFACE REMOVAL, 3 1/2"	SQ YD	11,620	\$4.00	\$46,480.00	\$3.94	\$45,782.80	\$8.50	\$98,770.00	\$3.35	\$38,927.00	\$2.65	\$30,793.00
44000172	HOT-MIX ASPHALT SURFACE REMOVAL, 5 3/4"	SQ YD	4,700	\$6.50	\$30,550.00	\$6.40	\$30,080.00	\$10.75	\$50,525.00	\$5.75	\$27,025.00	\$6.25	\$29,375.00
44000200	DRIVEWAY PAVEMENT REMOVAL	SQ YD	1,460	\$20.00	\$29,200.00	\$15.00	\$21,900.00	\$12.00	\$17,520.00	\$16.00	\$23,360.00	\$14.25	\$20,805.00
44000500	COMBINATION CURB AND GUTTER REMOVAL	FOOT	7,325	\$12.00	\$87,900.00	\$10.00	\$73,250.00	\$10.00	\$73,250.00	\$11.00	\$80,575.00	\$5.75	\$42,118.75
54213660	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 15"	EACH	1	\$1,200.00	\$1,200.00	\$1,600.00	\$1,600.00	\$1,160.00	\$1,160.00	\$2,000.00	\$2,000.00	\$3,075.00	\$3,075.00
54214725	PRECAST REINFORCED CONCRETE FLARED END SECTIONS - ELLIPTICAL, EQUIVALENT ROUND-SIZE 30"	EACH	1	\$2,000.00	\$2,000.00	\$2,700.00	\$2,700.00	\$2,100.00	\$2,100.00	\$3,575.00	\$3,575.00	\$5,115.00	\$5,115.00
550A0050	STORM SEWERS, CLASS A, TYPE 1 12"	FOOT	149	\$100.00	\$14,900.00	\$120.00	\$17,880.00	\$59.65	\$8,887.85	\$88.00	\$13,112.00	\$105.00	\$15,645.00
550A0070	STORM SEWERS, CLASS A, TYPE 1 15"	FOOT	34	\$115.00	\$3,910.00	\$130.00	\$4,420.00	\$63.10	\$2,145.40	\$93.50	\$3,179.00	\$96.00	\$3,264.00
550A0120	STORM SEWERS, CLASS A, TYPE 1 24"	FOOT	438	\$125.00	\$54,750.00	\$141.00	\$61,758.00	\$81.10	\$35,521.80	\$156.00	\$68,328.00	\$136.00	\$59,568.00
550A4300	STORM SEWERS, CLASS A, TYPE 1 EQUIVALENT ROUND-SIZE 30"	FOOT	120	\$200.00	\$24,000.00	\$200.00	\$24,000.00	\$143.25	\$17,190.00	\$229.00	\$27,480.00	\$213.50	\$25,620.00
55100400	STORM SEWER REMOVAL 10"	FOOT	75	\$20.00	\$1,500.00	\$20.00	\$1,500.00	\$8.00	\$600.00	\$15.50	\$1,162.50	\$1.00	\$75.00
55100500	STORM SEWER REMOVAL 12"	FOOT	985	\$22.00	\$21,670.00	\$20.00	\$19,700.00	\$18.20	\$17,927.00	\$15.50	\$15,267.50	\$1.00	\$985.00

Local Public Agency: Village of Romeoville  
 Date: 1/12/2026  
 County: Will  
 Time: 10:31 AM  
 Section: #24-00079-00-PV  
 Appropriation: \_\_\_\_\_  
 Estimate: \$2,966,439.00

Attended By: Joel Drabicki

24-R0569 - Village of Romeoville Lower Industrial Resurfacing - RBI				Name of Bidder:	D. Construction, Inc.		K-Five Construction Corp.		Schroeder Asphalt Services, Inc.		A Lamp Concrete Construction Inc.		
				Address of Bidder:	1488 S. Broadway		999 Oakmont Plaza Drive		PO Box 831		1900 Wright Boulevard		
					Coal City, IL 60416		Westmont, IL 60559		Huntley, IL 60142		Schaumburg, IL 60193		
Item No.	Item Description	Unit	QTY	Unit Price	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
55100700	STORM SEWER REMOVAL 15"	FOOT	170	\$25.00	\$4,250.00	\$20.00	\$3,400.00	\$21.90	\$3,723.00	\$15.50	\$2,635.00	\$1.00	\$170.00
60108100	PIPE UNDERDRAINS 4" (SPECIAL)	FOOT	460	\$40.00	\$18,400.00	\$20.00	\$9,200.00	\$28.75	\$13,225.00	\$61.00	\$28,060.00	\$52.00	\$23,920.00
60200305	CATCH BASINS, TYPE A, 4'-DIAMETER, TYPE 3 FRAME AND GRATE	EACH	2	\$4,000.00	\$8,000.00	\$3,300.00	\$6,600.00	\$3,235.00	\$6,470.00	\$5,485.00	\$10,970.00	\$4,825.00	\$9,650.00
60201330	CATCH BASINS, TYPE A, 4'-DIAMETER, TYPE 23 FRAME AND GRATE	EACH	2	\$4,000.00	\$8,000.00	\$3,300.00	\$6,600.00	\$3,050.00	\$6,100.00	\$5,185.00	\$10,370.00	\$4,775.00	\$9,550.00
60218400	MANHOLES, TYPE A, 4'-DIAMETER, TYPE 1 FRAME, CLOSED LID	EACH	1	\$4,000.00	\$4,000.00	\$3,700.00	\$3,700.00	\$3,340.00	\$3,340.00	\$5,690.00	\$5,690.00	\$5,250.00	\$5,250.00
60221100	MANHOLES, TYPE A, 5'-DIAMETER, TYPE 1 FRAME, CLOSED LID	EACH	6	\$6,000.00	\$36,000.00	\$4,100.00	\$24,600.00	\$3,930.00	\$23,580.00	\$6,715.00	\$40,290.00	\$5,950.00	\$35,700.00
60223800	MANHOLES, TYPE A, 6'-DIAMETER, TYPE 1 FRAME, CLOSED LID	EACH	1	\$10,000.00	\$10,000.00	\$6,600.00	\$6,600.00	\$6,130.00	\$6,130.00	\$9,300.00	\$9,300.00	\$9,515.00	\$9,515.00
60235700	INLETS, TYPE A, TYPE 3 FRAME AND GRATE	EACH	1	\$1,500.00	\$1,500.00	\$2,000.00	\$2,000.00	\$1,750.00	\$1,750.00	\$2,215.00	\$2,215.00	\$3,230.00	\$3,230.00
60237460	INLETS, TYPE A, TYPE 23 FRAME AND GRATE	EACH	9	\$1,500.00	\$13,500.00	\$2,000.00	\$18,000.00	\$1,594.00	\$14,346.00	\$2,000.00	\$18,000.00	\$3,055.00	\$27,495.00
60266600	VALVE BOXES TO BE ADJUSTED	EACH	6	\$300.00	\$1,800.00	\$500.00	\$3,000.00	\$250.00	\$1,500.00	\$395.00	\$2,370.00	\$300.00	\$1,800.00
60404940	FRAMES AND GRATES, TYPE 23	EACH	2	\$450.00	\$900.00	\$650.00	\$1,300.00	\$450.00	\$900.00	\$475.00	\$950.00	\$650.00	\$1,300.00
60406000	FRAMES AND LIDS, TYPE 1, OPEN LID	EACH	2	\$450.00	\$900.00	\$650.00	\$1,300.00	\$420.00	\$840.00	\$440.00	\$880.00	\$535.00	\$1,070.00
60500040	REMOVING MANHOLES	EACH	6	\$800.00	\$4,800.00	\$1,000.00	\$6,000.00	\$698.00	\$4,188.00	\$330.00	\$1,980.00	\$535.00	\$3,210.00
60500050	REMOVING CATCH BASINS	EACH	4	\$800.00	\$3,200.00	\$1,000.00	\$4,000.00	\$838.00	\$3,352.00	\$330.00	\$1,320.00	\$575.00	\$2,300.00
60500060	REMOVING INLETS	EACH	2	\$450.00	\$900.00	\$800.00	\$1,600.00	\$238.50	\$477.00	\$165.00	\$330.00	\$330.00	\$660.00
60603800	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12	FOOT	1,235	\$35.00	\$43,225.00	\$30.00	\$37,050.00	\$28.75	\$35,506.25	\$38.50	\$47,547.50	\$49.25	\$60,823.75
60604400	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.18	FOOT	5,705	\$40.00	\$228,200.00	\$34.00	\$193,970.00	\$31.75	\$181,133.75	\$47.50	\$270,987.50	\$45.00	\$256,725.00
60605000	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24	FOOT	385	\$45.00	\$17,325.00	\$38.00	\$14,630.00	\$44.35	\$17,074.75	\$55.00	\$21,175.00	\$73.00	\$28,105.00
66900200	NON-SPECIAL WASTE DISPOSAL	CU YD	1,970	\$80.00	\$157,600.00	\$90.00	\$177,300.00	\$60.00	\$118,200.00	\$110.00	\$216,700.00	\$50.00	\$98,500.00

Local Public Agency: Village of Romeoville  
 Date: 1/12/2026  
 County: Will  
 Time: 10:31 AM  
 Section: #24-00079-00-PV  
 Appropriation: \_\_\_\_\_  
 Estimate: \$2,966,439.00

Attended By: Joel Drabicki

**24-R0569 - Village of Romeoville  
Lower Industrial Resurfacing - RBI**

Item No.	Item Description	Unit	QTY	Unit Price	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
78000100	THERMOPLASTIC PAVEMENT MARKING LETTERS AND SYMBOLS	SQ FT	350	\$10.00	\$3,500.00	\$6.88	\$2,408.00	\$5.00	\$1,750.00	\$8.25	\$2,887.50	\$6.25	\$2,187.50
78000200	THERMOPLASTIC PAVEMENT MARKING LINE 4"	FOOT	6,860	\$0.90	\$6,174.00	\$0.99	\$6,791.40	\$1.05	\$7,203.00	\$0.90	\$6,174.00	\$0.75	\$5,145.00
78000400	THERMOPLASTIC PAVEMENT MARKING LINE 6"	FOOT	565	\$1.50	\$847.50	\$1.63	\$920.95	\$1.27	\$717.55	\$1.37	\$774.05	\$1.50	\$847.50
78000600	THERMOPLASTIC PAVEMENT MARKING LINE 12"	FOOT	155	\$4.00	\$620.00	\$3.28	\$508.40	\$3.00	\$465.00	\$4.10	\$635.50	\$3.50	\$542.50
78000650	THERMOPLASTIC PAVEMENT MARKING LINE 24"	FOOT	250	\$7.00	\$1,750.00	\$6.88	\$1,720.00	\$5.50	\$1,375.00	\$8.25	\$2,062.50	\$6.25	\$1,562.50
78300200	RAISED REFLECTIVE PAVEMENT MARKER REMOVAL	EACH	24	\$20.00	\$480.00	\$20.00	\$480.00	\$10.00	\$240.00	\$25.00	\$600.00	\$25.00	\$600.00
R5001013	SEEDING, SPECIAL	SQ YD	2,100	\$8.00	\$16,800.00	\$2.00	\$4,200.00	\$1.00	\$2,100.00	\$2.10	\$4,410.00	\$5.15	\$10,815.00
R6001009	CLASS D PATCHES, 5 INCH	SQ YD	1,540	\$50.00	\$77,000.00	\$56.00	\$86,240.00	\$57.00	\$87,780.00	\$53.00	\$81,620.00	\$35.50	\$54,670.00
R6001038	CLASS D PATCHES, 12 INCH	SQ YD	150	\$170.00	\$25,500.00	\$101.00	\$15,150.00	\$75.00	\$11,250.00	\$125.00	\$18,750.00	\$81.00	\$12,150.00
X0100029	EXPLORATORY EXCAVATION	FOOT	25	\$90.00	\$2,250.00	\$0.01	\$0.25	\$53.00	\$1,325.00	\$20.00	\$500.00	\$10.00	\$250.00
X0322917	PROPOSED STORM SEWER CONNECTION TO EXISTING MANHOLE	EACH	2	\$2,000.00	\$4,000.00	\$2,500.00	\$5,000.00	\$261.00	\$522.00	\$330.00	\$660.00	\$1,275.00	\$2,550.00
X0322918	PROPOSED MANHOLE/CATCH BASIN CONNECTION OVER EXISTING STORM SEWER	EACH	4	\$2,500.00	\$10,000.00	\$6,000.00	\$24,000.00	\$1,400.00	\$5,600.00	\$900.00	\$3,600.00	\$1,400.00	\$5,600.00
X6026050	SANITARY MANHOLES TO BE ADJUSTED	EACH	7	\$900.00	\$6,300.00	\$1,500.00	\$10,500.00	\$3,000.00	\$21,000.00	\$1,250.00	\$8,750.00	\$1,565.00	\$10,955.00
X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	L SUM	1	\$75,000.00	\$75,000.00	\$60,635.00	\$60,635.00	\$7,959.15	\$7,959.15	\$60,000.00	\$60,000.00	\$280,000.00	\$280,000.00
Z0004522	HOT-MIX ASPHALT DRIVEWAY PAVEMENT, 6"	SQ YD	690	\$70.00	\$48,300.00	\$43.00	\$29,670.00	\$70.00	\$48,300.00	\$67.00	\$46,230.00	\$56.50	\$38,985.00
Z0017400	DRAINAGE & UTILITY STRUCTURES TO BE ADJUSTED	EACH	93	\$550.00	\$51,150.00	\$500.00	\$46,500.00	\$1,000.00	\$93,000.00	\$600.00	\$55,800.00	\$750.00	\$69,750.00
Z0017700	DRAINAGE & UTILITY STRUCTURES TO BE RECONSTRUCTED	EACH	3	\$1,250.00	\$3,750.00	\$1,500.00	\$4,500.00	\$995.00	\$2,985.00	\$1,430.00	\$4,290.00	\$2,850.00	\$8,550.00

Local Public Agency: Village of Romeoville  
 Date: 1/12/2026  
 County: Will  
 Time: 10:31 AM  
 Section: #24-00079-00-PV  
 Appropriation: \_\_\_\_\_  
 Estimate: \$2,966,439.00

Attended By: Joel Drabicki

**24-R0569 - Village of Romeoville  
 Lower Industrial Resurfacing - RBI**

<b>24-R0569 - Village of Romeoville    Lower Industrial Resurfacing - RBI</b>				<b>Name of Bidder:</b>	<b>D. Construction, Inc.</b>		<b>K-Five Construction Corp.</b>		<b>Schroeder Asphalt Services, Inc.</b>		<b>A Lamp Concrete Construction Inc.</b>		
				<b>Address of Bidder:</b>	1488 S. Broadway		999 Oakmont Plaza Drive		PO Box 831		1900 Wright Boulevard		
					Coal City, IL 60416		Westmont, IL 60559		Huntley, IL 60142		Schaumburg, IL 60193		
Item No.	Item Description	Unit	QTY	Unit Price	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Z0056608	STORM SEWER (WATER MAIN REQUIREMENTS) 12 INCH	FOOT	285	\$80.00	\$22,800.00	\$128.00	\$36,480.00	\$67.00	\$19,095.00	\$96.00	\$27,360.00	\$128.00	\$36,480.00
Z0056610	STORM SEWER (WATER MAIN REQUIREMENTS) 15 INCH	FOOT	115	\$95.00	\$10,925.00	\$140.00	\$16,100.00	\$77.15	\$8,872.25	\$110.00	\$12,650.00	\$158.00	\$18,170.00
Z0056612	STORM SEWER (WATER MAIN REQUIREMENTS) 18 INCH	FOOT	195	\$105.00	\$20,475.00	\$150.00	\$29,250.00	\$96.85	\$18,885.75	\$135.00	\$26,325.00	\$148.00	\$28,860.00
Z0056616	STORM SEWER (WATER MAIN REQUIREMENTS) 24 INCH	FOOT	88	\$130.00	\$11,440.00	\$185.00	\$16,280.00	\$130.60	\$11,492.80	\$194.00	\$17,072.00	\$225.00	\$19,800.00
				<b>TOTAL:</b>	<b>\$2,966,439.00</b>		<b>\$2,647,081.00</b>		<b>\$2,748,770.00</b>		<b>\$2,892,083.05</b>		<b>\$2,914,559.50</b>

Local Public Agency: Village of Romeoville  
 Date: 1/12/2026  
 County: Will  
 Time: 10:31 AM  
 Section: #24-00079-00-PV  
 Appropriation: \_\_\_\_\_  
 Estimate: \$2,966,439.00

Attended By: Joel Drabicki

**24-R0569 - Village of Romeoville  
 Lower Industrial Resurfacing - RBI**

				Name of Bidder:		Everlast Blacktop, Inc.		M & J Asphalt Paving Co Inc.		Martam Construction Inc.	
				Address of Bidder:		2560 Foxfield Road		3124 South 60th Court		1200 Gasket Drive	
						Suite 180					
				Approved Engineer's Estimate							
Item No.	Item Description	Unit	QTY	Unit Price	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
20100110	TREE REMOVAL (6 TO 15 UNITS DIAMETER)	UNIT	36	\$90.00	\$3,240.00	\$44.00	\$1,584.00	\$248.85	\$8,958.60	\$60.00	\$2,160.00
20100210	TREE REMOVAL (OVER 15 UNITS DIAMETER)	UNIT	40	\$80.00	\$3,200.00	\$44.00	\$1,760.00	\$270.00	\$10,800.00	\$70.00	\$2,800.00
20200100	EARTH EXCAVATION	CU YD	1,970	\$40.00	\$78,800.00	\$40.00	\$78,800.00	\$44.75	\$88,157.50	\$61.00	\$120,170.00
20201200	REMOVAL AND DISPOSAL OF UNSUITABLE MATERIAL	CU YD	525	\$45.00	\$23,625.00	\$40.00	\$21,000.00	\$59.10	\$31,027.50	\$61.00	\$32,025.00
20800150	TRENCH BACKFILL	CU YD	235	\$55.00	\$12,925.00	\$75.00	\$17,625.00	\$48.70	\$11,444.50	\$78.00	\$18,330.00
21001000	GEOTECHNICAL FABRIC FOR GROUND STABILIZATION	SQ YD	525	\$2.50	\$1,312.50	\$2.00	\$1,050.00	\$1.40	\$735.00	\$4.00	\$2,100.00
21101615	TOPSOIL FURNISH AND PLACE, 4"	SQ YD	2,100	\$5.00	\$10,500.00	\$5.60	\$11,760.00	\$14.85	\$31,185.00	\$7.50	\$15,750.00
25100630	EROSION CONTROL BLANKET	SQ YD	2,100	\$1.50	\$3,150.00	\$2.00	\$4,200.00	\$7.40	\$15,540.00	\$2.00	\$4,200.00
28000400	PERIMETER EROSION BARRIER	FOOT	420	\$5.00	\$2,100.00	\$2.00	\$840.00	\$6.10	\$2,562.00	\$5.00	\$2,100.00
28000510	INLET FILTERS	EACH	20	\$165.00	\$3,300.00	\$160.00	\$3,200.00	\$264.75	\$5,295.00	\$250.00	\$5,000.00
30300001	AGGREGATE SUBGRADE IMPROVEMENT	CU YD	525	\$45.00	\$23,625.00	\$55.50	\$29,137.50	\$56.45	\$29,636.25	\$68.00	\$35,700.00
35101600	AGGREGATE BASE COURSE, TYPE B 4"	SQ YD	1,935	\$10.00	\$19,350.00	\$6.65	\$12,867.75	\$4.40	\$8,514.00	\$10.00	\$19,350.00
35102200	AGGREGATE BASE COURSE, TYPE B 10"	SQ YD	10,110	\$22.00	\$222,420.00	\$16.15	\$163,276.50	\$15.70	\$158,727.00	\$16.00	\$161,760.00
35800100	PREPARATION OF BASE	SQ YD	15,265	\$1.00	\$15,265.00	\$2.35	\$35,872.75	\$2.15	\$32,819.75	\$2.00	\$30,530.00
35800200	AGGREGATE BASE REPAIR	TON	60	\$25.00	\$1,500.00	\$36.00	\$2,160.00	\$98.70	\$5,922.00	\$81.00	\$4,860.00
40201000	AGGREGATE FOR TEMPORARY ACCESS	TON	750	\$15.00	\$11,250.00	\$36.00	\$27,000.00	\$55.85	\$41,887.50	\$44.00	\$33,000.00
40300200	BITUMINOUS MATERIALS (PRIME COAT)	TON	32,710	\$0.20	\$6,542.00	\$0.01	\$327.10	\$0.01	\$327.10	\$0.01	\$327.10
40600290	BITUMINOUS MATERIALS (TACK COAT)	POUND	19,590	\$0.20	\$3,918.00	\$0.01	\$195.90	\$0.01	\$195.90	\$0.01	\$195.90
40600370	LONGITUDINAL JOINT SEALANT	FOOT	13,280	\$4.00	\$53,120.00	\$3.71	\$49,268.80	\$3.55	\$47,144.00	\$3.85	\$51,128.00
40600982	HOT-MIX ASPHALT SURFACE REMOVAL BUTT JOINT	SQ YD	60	\$15.00	\$900.00	\$64.00	\$3,840.00	\$12.80	\$768.00	\$10.00	\$600.00
40603080	HOT-MIX ASPHALT BINDER COURSE, IL-190, N50	TON	4,925	\$85.00	\$418,625.00	\$89.40	\$440,295.00	\$75.50	\$371,837.50	\$94.00	\$462,950.00

Local Public Agency: Village of Romeoville  
 Date: 1/12/2026  
 County: Will  
 Time: 10:31 AM  
 Section: #24-00079-00-PV  
 Appropriation: \_\_\_\_\_  
 Estimate: \$2,966,439.00

Attended By: Joel Drabicki

**24-R0569 - Village of Romeoville  
 Lower Industrial Resurfacing - RBI**

Item No.	Item Description	Unit	QTY	Unit Price	Total	Unit Cost	Total	Name of Bidder:		M & J Asphalt Paving Co Inc.	Martam Construction Inc.
								Everlast Blacktop, Inc.			
								Address of Bidder:	2560 Foxfield Road	3124 South 60th Court	1200 Gasket Drive
									Suite 180		
									St. Charles, IL 60174	Cicero, IL 60804	Elgin, IL 60120
								Approved Engineer's Estimate			
Item No.	Item Description	Unit	QTY	Unit Price	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
40603200	POLYMERIZED HOT-MIX ASPHALT BINDER COURSE, IL-4.75, N50	TON	580	\$110.00	\$63,800.00	\$125.00	\$72,500.00	\$103.15	\$59,827.00	\$146.00	\$84,680.00
40604060	HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "D", N50	TON	3,875	\$90.00	\$348,750.00	\$90.14	\$349,292.50	\$82.35	\$319,106.25	\$95.00	\$368,125.00
42300300	PORLTAND CEMENT CONCRETE DRIVEWAY PAVEMENT, 7 INCH	SQ YD	770	\$90.00	\$69,300.00	\$106.00	\$81,620.00	\$80.55	\$62,023.50	\$155.00	\$119,350.00
44000100	PAVEMENT REMOVAL	SQ YD	10,110	\$25.00	\$252,750.00	\$18.44	\$186,428.40	\$14.60	\$147,606.00	\$23.00	\$232,530.00
44000157	HOT-MIX ASPHALT SURFACE REMOVAL, 2"	SQ YD	13,420	\$2.50	\$33,550.00	\$2.20	\$29,524.00	\$4.45	\$59,719.00	\$2.60	\$34,892.00
44000163	HOT-MIX ASPHALT SURFACE REMOVAL, 3 1/2"	SQ YD	11,620	\$4.00	\$46,480.00	\$3.60	\$41,832.00	\$7.80	\$90,636.00	\$4.50	\$52,290.00
44000172	HOT-MIX ASPHALT SURFACE REMOVAL, 5 3/4"	SQ YD	4,700	\$6.50	\$30,550.00	\$5.60	\$26,320.00	\$12.80	\$60,160.00	\$7.15	\$33,605.00
44000200	DRIVEWAY PAVEMENT REMOVAL	SQ YD	1,460	\$20.00	\$29,200.00	\$14.00	\$20,440.00	\$14.10	\$20,586.00	\$17.00	\$24,820.00
44000500	COMBINATION CURB AND GUTTER REMOVAL	FOOT	7,325	\$12.00	\$87,900.00	\$8.10	\$59,332.50	\$6.95	\$50,908.75	\$11.00	\$80,575.00
54213660	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 15"	EACH	1	\$1,200.00	\$1,200.00	\$2,400.00	\$2,400.00	\$2,488.45	\$2,488.45	\$1,880.00	\$1,880.00
54214725	PRECAST REINFORCED CONCRETE FLARED END SECTIONS - ELLIPTICAL, EQUIVALENT ROUND-SIZE 30"	EACH	1	\$2,000.00	\$2,000.00	\$4,700.00	\$4,700.00	\$4,616.80	\$4,616.80	\$3,660.00	\$3,660.00
550A0050	STORM SEWERS, CLASS A, TYPE 1 12"	FOOT	149	\$100.00	\$14,900.00	\$125.00	\$18,625.00	\$137.65	\$20,509.85	\$106.00	\$15,794.00
550A0070	STORM SEWERS, CLASS A, TYPE 1 15"	FOOT	34	\$115.00	\$3,910.00	\$135.00	\$4,590.00	\$154.55	\$5,254.70	\$118.00	\$4,012.00
550A0120	STORM SEWERS, CLASS A, TYPE 1 24"	FOOT	438	\$125.00	\$54,750.00	\$147.00	\$64,386.00	\$195.90	\$85,804.20	\$157.00	\$68,766.00
550A4300	STORM SEWERS, CLASS A, TYPE 1 EQUIVALENT ROUND-SIZE 30"	FOOT	120	\$200.00	\$24,000.00	\$175.00	\$21,000.00	\$296.50	\$35,580.00	\$289.00	\$34,680.00
55100400	STORM SEWER REMOVAL 10"	FOOT	75	\$20.00	\$1,500.00	\$40.00	\$3,000.00	\$18.00	\$1,350.00	\$6.00	\$450.00
55100500	STORM SEWER REMOVAL 12"	FOOT	985	\$22.00	\$21,670.00	\$35.00	\$34,475.00	\$18.00	\$17,730.00	\$7.00	\$6,895.00

Local Public Agency: Village of Romeoville  
 Date: 1/12/2026  
 County: Will  
 Time: 10:31 AM  
 Section: #24-00079-00-PV  
 Appropriation:  
 Estimate: \$2,966,439.00

Attended By: Joel Drabicki

**24-R0569 - Village of Romeoville  
 Lower Industrial Resurfacing - RBI**

<b>24-R0569 - Village of Romeoville    Lower Industrial Resurfacing - RBI</b>				Name of Bidder:		Everlast Blacktop, Inc.		M & J Asphalt Paving Co Inc.		Martam Construction Inc.	
				Address of Bidder:		2560 Foxfield Road Suite 180 St. Charles, IL 60174		3124 South 60th Court		1200 Gasket Drive	
				Approved Engineer's Estimate							
Item No.	Item Description	Unit	QTY	Unit Price	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
55100700	STORM SEWER REMOVAL 15"	FOOT	170	\$25.00	\$4,250.00	\$40.00	\$6,800.00	\$18.00	\$3,060.00	\$9.00	\$1,530.00
60108100	PIPE UNDERDRAINS 4" (SPECIAL)	FOOT	460	\$40.00	\$18,400.00	\$51.00	\$23,460.00	\$72.00	\$33,120.00	\$44.00	\$20,240.00
60200305	CATCH BASINS, TYPE A, 4'-DIAMETER, TYPE 3 FRAME AND GRATE	EACH	2	\$4,000.00	\$8,000.00	\$4,200.00	\$8,400.00	\$5,506.30	\$11,012.60	\$5,120.00	\$10,240.00
60201330	CATCH BASINS, TYPE A, 4'-DIAMETER, TYPE 23 FRAME AND GRATE	EACH	2	\$4,000.00	\$8,000.00	\$4,400.00	\$8,800.00	\$5,506.30	\$11,012.60	\$5,060.00	\$10,120.00
60218400	MANHOLES, TYPE A, 4'-DIAMETER, TYPE 1 FRAME, CLOSED LID	EACH	1	\$4,000.00	\$4,000.00	\$4,200.00	\$4,200.00	\$6,311.05	\$6,311.05	\$5,000.00	\$5,000.00
60221100	MANHOLES, TYPE A, 5'-DIAMETER, TYPE 1 FRAME, CLOSED LID	EACH	6	\$6,000.00	\$36,000.00	\$5,200.00	\$31,200.00	\$8,026.45	\$48,158.70	\$5,940.00	\$35,640.00
60223800	MANHOLES, TYPE A, 6'-DIAMETER, TYPE 1 FRAME, CLOSED LID	EACH	1	\$10,000.00	\$10,000.00	\$7,250.00	\$7,250.00	\$17,646.55	\$17,646.55	\$8,420.00	\$8,420.00
60235700	INLETS, TYPE A, TYPE 3 FRAME AND GRATE	EACH	1	\$1,500.00	\$1,500.00	\$3,000.00	\$3,000.00	\$2,647.25	\$2,647.25	\$2,640.00	\$2,640.00
60237460	INLETS, TYPE A, TYPE 23 FRAME AND GRATE	EACH	9	\$1,500.00	\$13,500.00	\$3,200.00	\$28,800.00	\$2,647.25	\$23,825.25	\$2,600.00	\$23,400.00
60266600	VALVE BOXES TO BE ADJUSTED	EACH	6	\$300.00	\$1,800.00	\$400.00	\$2,400.00	\$566.50	\$3,399.00	\$560.00	\$3,360.00
60404940	FRAMES AND GRATES, TYPE 23	EACH	2	\$450.00	\$900.00	\$950.00	\$1,900.00	\$635.35	\$1,270.70	\$620.00	\$1,240.00
60406000	FRAMES AND LIDS, TYPE 1, OPEN LID	EACH	2	\$450.00	\$900.00	\$550.00	\$1,100.00	\$529.45	\$1,058.90	\$480.00	\$960.00
60500040	REMOVING MANHOLES	EACH	6	\$800.00	\$4,800.00	\$600.00	\$3,600.00	\$1,244.20	\$7,465.20	\$600.00	\$3,600.00
60500050	REMOVING CATCH BASINS	EACH	4	\$800.00	\$3,200.00	\$500.00	\$2,000.00	\$1,313.05	\$5,252.20	\$600.00	\$2,400.00
60500060	REMOVING INLETS	EACH	2	\$450.00	\$900.00	\$500.00	\$1,000.00	\$264.75	\$529.50	\$100.00	\$200.00
60603800	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12	FOOT	1,235	\$35.00	\$43,225.00	\$38.00	\$46,930.00	\$25.30	\$31,245.50	\$46.00	\$56,810.00
60604400	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.18	FOOT	5,705	\$40.00	\$228,200.00	\$37.50	\$213,937.50	\$32.15	\$183,415.75	\$49.00	\$279,545.00
60605000	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24	FOOT	385	\$45.00	\$17,325.00	\$41.00	\$15,785.00	\$39.15	\$15,072.75	\$59.00	\$22,715.00
66900200	NON-SPECIAL WASTE DISPOSAL	CU YD	1,970	\$80.00	\$157,600.00	\$80.00	\$157,600.00	\$89.10	\$175,527.00	\$121.00	\$238,370.00

Local Public Agency: Village of Romeoville  
 Date: 1/12/2026  
 County: Will  
 Time: 10:31 AM  
 Section: #24-00079-00-PV  
 Appropriation: \_\_\_\_\_  
 Estimate: \$2,966,439.00

Attended By: Joel Drabicki

**24-R0569 - Village of Romeoville  
 Lower Industrial Resurfacing - RBI**

Item No.	Item Description	Unit	QTY	Unit Price	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
78000100	THERMOPLASTIC PAVEMENT MARKING LETTERS AND SYMBOLS	SQ FT	350	\$10.00	\$3,500.00	\$6.00	\$2,100.00	\$11.90	\$4,165.00	\$6.00	\$2,100.00
78000200	THERMOPLASTIC PAVEMENT MARKING LINE 4"	FOOT	6,860	\$0.90	\$6,174.00	\$1.25	\$8,575.00	\$3.00	\$20,580.00	\$1.25	\$8,575.00
78000400	THERMOPLASTIC PAVEMENT MARKING LINE 6"	FOOT	565	\$1.50	\$847.50	\$1.55	\$875.75	\$3.80	\$2,147.00	\$1.50	\$847.50
78000600	THERMOPLASTIC PAVEMENT MARKING LINE 12"	FOOT	155	\$4.00	\$620.00	\$3.30	\$511.50	\$7.60	\$1,178.00	\$3.60	\$558.00
78000650	THERMOPLASTIC PAVEMENT MARKING LINE 24"	FOOT	250	\$7.00	\$1,750.00	\$5.50	\$1,375.00	\$14.30	\$3,575.00	\$6.50	\$1,625.00
78300200	RAISED REFLECTIVE PAVEMENT MARKER REMOVAL	EACH	24	\$20.00	\$480.00	\$60.00	\$1,440.00	\$61.75	\$1,482.00	\$12.00	\$288.00
R5001013	SEEDING, SPECIAL	SQ YD	2,100	\$8.00	\$16,800.00	\$1.60	\$3,360.00	\$2.15	\$4,515.00	\$4.00	\$8,400.00
R6001009	CLASS D PATCHES, 5 INCH	SQ YD	1,540	\$50.00	\$77,000.00	\$52.00	\$80,080.00	\$44.20	\$68,068.00	\$80.00	\$123,200.00
R6001038	CLASS D PATCHES, 12 INCH	SQ YD	150	\$170.00	\$25,500.00	\$140.00	\$21,000.00	\$106.10	\$15,915.00	\$105.00	\$15,750.00
X0100029	EXPLORATORY EXCAVATION	FOOT	25	\$90.00	\$2,250.00	\$20.00	\$500.00	\$137.65	\$3,441.25	\$76.00	\$1,900.00
X0322917	PROPOSED STORM SEWER CONNECTION TO EXISTING MANHOLE	EACH	2	\$2,000.00	\$4,000.00	\$3,500.00	\$7,000.00	\$4,712.10	\$9,424.20	\$2,460.00	\$4,920.00
X0322918	PROPOSED MANHOLE/CATCH BASIN CONNECTION OVER EXISTING STORM SEWER	EACH	4	\$2,500.00	\$10,000.00	\$6,500.00	\$26,000.00	\$6,824.60	\$27,298.40	\$1,820.00	\$7,280.00
X6026050	SANITARY MANHOLES TO BE ADJUSTED	EACH	7	\$900.00	\$6,300.00	\$1,150.00	\$8,050.00	\$2,308.40	\$16,158.80	\$1,460.00	\$10,220.00
X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	L SUM	1	\$75,000.00	\$75,000.00	\$115,294.49	\$115,294.49	\$193,073.55	\$193,073.55	\$175,000.00	\$175,000.00
Z0004522	HOT-MIX ASPHALT DRIVEWAY PAVEMENT, 6"	SQ YD	690	\$70.00	\$48,300.00	\$48.72	\$33,616.80	\$30.55	\$21,079.50	\$75.00	\$51,750.00
Z0017400	DRAINAGE & UTILITY STRUCTURES TO BE ADJUSTED	EACH	93	\$550.00	\$51,150.00	\$780.00	\$72,540.00	\$676.30	\$62,895.90	\$640.00	\$59,520.00
Z0017700	DRAINAGE & UTILITY STRUCTURES TO BE RECONSTRUCTED	EACH	3	\$1,250.00	\$3,750.00	\$2,000.00	\$6,000.00	\$2,944.75	\$8,834.25	\$1,890.00	\$5,670.00



Municipal Expertise. Community Commitment.

Local Public Agency: Village of Romeoville  
County: Will  
Section: #24-00079-00-PV  
Estimate: \$2,966,439.00

Date: 1/12/2026  
Time: 10:31 AM  
Appropriation:

Attended By: Joel Drabicki

24-R0569 - Village of Romeoville  
Lower Industrial Resurfacing - RBI

24-R0569 - Village of Romeoville Lower Industrial Resurfacing - RBI				Name of Bidder:	Everlast Blacktop, Inc.		M & J Asphalt Paving Co Inc.		Martam Construction Inc.	
				Address of Bidder:	2560 Foxfield Road		3124 South 60th Court		1200 Gasket Drive	
					Suite 180					
					St. Charles, IL 60174		Cicero, IL 60804		Elgin, IL 60120	
Item No.	Item Description	Unit	QTY	Approved Engineer's Estimate	Unit Price	Total	Unit Cost	Total	Unit Cost	Total
Z0056608	STORM SEWER (WATER MAIN REQUIREMENTS) 12 INCH	FOOT	285		\$80.00	\$22,800.00	\$138.00	\$39,330.00	\$159.75	\$45,528.75
Z0056610	STORM SEWER (WATER MAIN REQUIREMENTS) 15 INCH	FOOT	115		\$95.00	\$10,925.00	\$178.00	\$20,470.00	\$191.70	\$22,045.50
Z0056612	STORM SEWER (WATER MAIN REQUIREMENTS) 18 INCH	FOOT	195		\$105.00	\$20,475.00	\$182.00	\$35,490.00	\$213.00	\$41,535.00
Z0056616	STORM SEWER (WATER MAIN REQUIREMENTS) 24 INCH	FOOT	88		\$130.00	\$11,440.00	\$220.00	\$19,360.00	\$284.35	\$25,022.80
				TOTAL:	\$2,966,439.00		\$2,997,656.74		\$3,126,384.00	
										\$3,126,384.00